UHF Grid TV Aerial

Art.no 38-8754 Model E2169G2016N

Please read the entire instruction manual before using the product
and then save it for future reference. We reserve the right for
any errors in text or images and any necessary changes made
to technical data. In the event of technical problems or other
queries, please contact our Customer Services.

Installation

Fitting the F-connector and the seal onto
the coaxial cable

(@Dzﬂé!;

—

2. Strip the coaxial cable and fold the braided shielding back
over the sheathing as pictured.

e

3. Twist the F-connector onto the coaxial cable.

Installing the aerial

—c——y

1. Unfold the aerial. Attach the bracket
using the screw, washer and nut (M3).

. Thread the rubber seal onto the coaxial cable (sold separately).

7
/14

77

2. Fasten the mast bracket to the aerial with the screws and
washers (M6).

oot

3. Connect the aerial cable to the aerial and cover

the connection with the rubber seal. Make sure that
the F-connector is screwed on tightly and that the seal is
watertight.

4. Mount the aerial onto the mast (sold separately) and
fasten it by tightening the two wing nuts. Point the cable
connection downwards to prevent rainwater running down
the cable into the connection.

Responsible disposal

This symbol indicates that this product should not
be disposed of with general household waste.
This applies throughout the entire EU. In order
to prevent any harm to the environment or
health hazards caused by incorrect waste
disposal, the product must be handed in for
recycling so that the material can be disposed
of in a responsible manner. When recycling your
product, take it to your local collection facility

or contact the place of purchase. They will
ensure that the product is disposed of in

an environmentally sound manner.

Specifications

Frequency UHF: 470-862 MHz

Polarisation  Horizontal ff
Impedance 750 §
Connection  F-Connector 3
Dimensions 84 x 51 cm %

GREAT BRITAIN ¢ customer service tel: 020 8247 9300 e-mail customerservice@clasohlson.co.uk internet www.clasohlson.co.uk postal 10 — 13 Market Place, Kingston Upon Thames, Surrey, KT1 1JZ C I a S 0 h Iso n




TV-antenn gitter

Art.nr 38-8754  Modell E2169G2016N

»
<
()
=)
(7
=
o

La&s igenom hela bruksanvisningen fére anvandning och spara
den sedan for framtida bruk. Vi reserverar oss for ev. text- och
bildfel samt andringar av tekniska data. Vid tekniska problem
eller andra fragor, kontakta var kundtjanst.

Installation

Montera F-kontakten och tatningen pa
koaxialkabeln

(@DW

. Tra pa gummitatningen pé koaxialkabeln (séljs separat).
2. Skala koaxialkabeln och vik upp skarmen bakat dver
manteln enligt bilden.

e o=

3. Skruva fast F-kontakten pa koaxialkabeln.

7
/14

77

2. Skruva fast antennfastet pa antennen med skruvar och
brickor (M6).

—

4. Montera antennen pa mastroret (séljs separat) och dra at
vingmuttrarna. Vand anslutningen for antennkabeln neréat
for att undvika att regnvatten féljer med antennkabeln in
i kontakten.

Avfallshantering

Denna symbol innebér att produkten inte far

kastas tillsammans med annat hushéllsavfall.

Detta géller inom hela EU. For att férebygga

eventuell skada p& milj¢ och halsa, orsakad

av felaktig avfallshantering, ska produkten

l&amnas till &tervinning s& att materialet kan tas I
omhand pa ett ansvarsfullt satt. Nar du lamnar

produkten till &tervinning, anvand dig av de
returhanteringssystem som finns dér du befinner

dig eller kontakta inkopsstallet. De kan se till

) att produkten tas om hand pa ett for miljon
3. Anslut antennkabeln till antennen och tryck fast tillfredstallande sétt.

gummitatningen. Se till att F-kontakten &r ordentligt
atdragen och att tatningen sluter tatt.

Montera antennen

A2al

E——

Specifikationer
Frekvens UHF: 470-862 MHz
Polarisering Horisontell
Impedans 75 Q

Anslutning  F-kontakt

Matt 84 x 51 cm

1. Fall upp antennen. Skruva &t fastet med
skruven, brickan och muttern (M3).

¢190810¢ oA

SVERIGE ¢ kundtjénst tel. 0247/445 00 fax 0247/44509 e-post kundservice@clasohlson.se internet www.clasohlson.se brev Clas Ohlson AB, 793 85 INSJON Clas Oh Ison




TV-antenne (gitterantenne)

Art.nr. 38-8754  Modell E2169G2016N

Les brukerveiledningen grundig for produktet tas i bruk og ta
vare pa den for framtidig bruk. Vi reserverer oss mot ev. feil

i tekst og bilde, samt forandringer av tekniske data. Oppstéar det
tekniske problemer eller har du spersmal, ta kontakt med vart
kundesenter.

Installasjon

Monter F-kontakten og pakningen pa
koaksialkabelen

(MW

. Tre gummipakningen pa koaksialkabelen (selges separat).
2. Fjern litt isolasjon fra koaksialkabelen og vend skjermen
bakover, over mantelen, som vist pa bildet.

e o=

3. Fest F-kontakten pa koaksalkabelen.

—

Montere antennen

—c——y

1. Fold ut antennen. Skru til festet med
skruen, skiven og mutteren (M3).

NORGE ¢ kundesenter tel. 23214000 fax 23214080 e-postkundesenter@clasohlson.no internett www.clasohlson.no post Clas Ohlson AS, Postboks 485 Sentrum, 0105 OSLO

7
/14

77

P ——

. Koble antennekabelen til antennen og trykk fast

gummipakningen. Pase at F-kontakten er ordentlig trukket
til og at pakningen tetter.

4. Monter antennen p& masten/reret (selges separat) og dra
vingemutterene til. Vend koblingen for antennekabelen ned
for & unnga at regnvann felger med kabelen inn i kontakten.

Avfallshandtering

Symbolet betyr at produktet ikke skal kastes
sammen med husholdningsavfallet. Dette gjelder
innenfor EX)S-omradet. For & forebygge
eventuelle skader pé helse og milig som felge av
feil handtering av avfall, skal produktet leveres

til gjenvinning, slik at materialet blir tatt hdnd om
pa en ansvarsfull méate. Benytt miljigstasjonene
som er der du befinner deg eller ta kontakt

med forhandler. De vil ta hand om produktet pa
en miljiomessig tilfredsstillende méte.

Spesifikasjoner
Frekvens UHF: 470-862 MHz
Polarisering Horisontal
Impedans 75Q

Tilkobling F-kontakt

Mal 84 x 51 cm

¢190810¢ oA

clas ohlson




TV-antenni gitter

Tuotenro 38-8754 Malli E2169G2016N

Lue koko kayttéohje ja sdasta se tulevaa kayttda varten.
Pidatamme oikeuden teknisten tietojen muutoksiin. Emme vas-
taa mahdollisista teksti- tai kuvavirheista. Jos tuotteeseen tulee
teknisia ongelmia, ota yhteys myymalaan tai asiakaspalveluun.

Asentaminen
Asenna F-liitin ja tiiviste koaksiaalikaapeliin

(@DW

Pujota kumitiiviste koaksiaalikaapeliin (myydaan erikseen). o . o .
2. Kuori koaksiaalikaapelia ja taita suojaus taaksepain kuvan 2. Ruuvaa antennikiinnike antenniin ruuveila ja aluslaatoilla (M6).

osoittamalla tavalla. 4. Asenna antenni mastoputkeen (myydaan erikseen) ja kirista

siipimutterit. K&anna antennijohdon liitanta alaspain, jotta

—_

litantaan ei paase sadevetta.

Kierrattaminen
3. Ruuvaa F-liitin kiinni koaksiaalikaapeliin. Tama kuvake tarkoittaa, etta tuotetta ei saa
) ) .] havittda kotitalousjatteen seassa. Tamé koskee
Antennin asentaminen Jio) koko EU-aluetta. Virheellisesta havittamisesta
johtuvien mahdollisten ymparisto- ja terveys-
i haittojen ehkéaisemiseksi tuote tulee vieda

kierratettavaksi, jotta materiaali voidaan kasitella I
vastuullisella tavalla. Kierraté tuote kayttamalla

paikallisia kierratysjarjestelmia tai ota yhteys

ostopaikkaan. Ostopaikassa tuote kierratetédan

vastuullisella tavalla.

—c——y

3. Liitd antennikaapeli antenniin ja paina kumitiiviste kiinni. . .
Varmista, etta F-liitin on tiukasti kiinni ja etta tiiviste on tiivis. Tekniset tiedot
Taajuus UHF: 470-862 MHz
Polarisaatio Horisontaalinen
Impedanssi 75 Q)
Liitanta F-liitin
Mitat 84 x 51 cm

1. Taita antenni auki. Kiinnita kiinnike
ruuvilla, aluslaatalla ja mutterilla (M3).

&
=
N
o
purg
(o]
o
(]
ui's
N

SUOMI ¢ asiakaspalvelu puh. 020 111 2222 sahképosti asiakaspalvelu@clasohlson.fi kotisivu www.clasohlson.fi osoite Clas Ohlson Oy, Kaivokatu 10 B, 00100 HELSINKI Clas Oh Ison




UHF-Fernsehantenne

Art.Nr. 38-8754 Modell E2169G2016N

Vor Inbetriebnahme die Bedienungsanleitung vollstandig
durchlesen und fUr kinftigen Gebrauch aufoewahren. Irrttimer,
Abweichungen und Anderungen behalten wir uns vor.

Bei technischen Problemen oder anderen Fragen freut sich
unser Kundenservice Uber eine Kontaktaufnahme.

Installation

F-Stecker und Dichtung auf dem Koaxialkabel
montieren

(@DW

1. Die Gummidichtung auf das Koaxialkabel aufziehen (separat
erhaltlich).

2. Das Koaxialkabel ein Stlick weit entmanteln und den Schirm
wie abgebildet nach auBen umschlagen.

e o=

3. Den F-Stecker auf das Koaxialkabel aufschrauben.

Montage der Antenne

————y

1. Die Antenne auseinanderklappen.
Die Halterung mit Schraube,
Unterlegscheibe und Mutter (M3)
festschrauben.

DEUTSCHLAND ¢ Kundenservice Hotline 0402999 78111 E-Mail kundenservice@clasohlson.de Homepage www.clasohlson.de Postanschrift Clas Ohlson GmbH, Jungfernstieg 38, 20354 Hamburg

7
7744

2. Die Antennenhalterung mithilfe von Schrauben und
Unterlegscheiben (M6) an der Antenne festschrauben.

o

3. Das Antennenkabel an die Antenne anschlieBen und
die Gummidichtung festdriicken. Sicherstellen, dass
der F-Stecker fest aufgeschraubt ist und die Dichtung
ordnungsgemal dicht abschliet.

O
()
c
=1
o
9]
>

4. Die Antenne am Mastrohr (separat erhaltlich) befestigen
und die Flugelschrauben fest anziehen. Den Anschluss fur
das Antennenkabel nach unten drehen, um zu vermeiden,
dass Regenwasser am Kabel entlanglauft und in den
Stecker eindringt.

Hinweise zur Entsorgung

Dieses Symbol zeigt an, dass das Produkt
nicht gemeinsam mit dem Hausmdill entsorgt
werden darf. Dies gilt in der gesamten EU.

Um mdglichen Schaden fir Umwelt und
Gesundheit vorzubeugen, die durch unsach-
gemaBe Abfallentsorgung verursacht werden,
dieses Produkt zum verantwortlichen Recycling
geben, um die nachhaltige Wiederverwertung
von stofflichen Ressourcen zu férdern. Bei der Abgabe des
Produktes bitte die 6rtlichen Recycling- und Sammelstationen
nutzen oder den Handler kontaktieren. Dieser kann das Produkt
auf eine umweltfreundliche Weise recyceln.

Technische Daten

Frequenz UHF: 470-862 MHz

Polarisierung  Waagerecht ‘f
Impedanz 750 §
Anschluss F-Stecker 3
Abmessungen 84 x 51 cm o

clas ohlson




